
MATHS

BOOKS - PEARSON IIT JEE

FOUNDATION

SIMPLE INTEREST AND COMPOUND

INTEREST

Example

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. A certain sum lent for a period of  years

under simple interest at  per annum

earned an interest of Rs 234. From the

following options, find the sum that was lent.

A. Rs 960

B. Rs 1040

C. Rs 1246

D. Rs 1146

Answer: B

Watch Video Solution

21

2

9%

https://dl.doubtnut.com/l/_wf6g1KzcxpGL


Watch Video Solution

2. At what rate of interest per annum, under

compound interest, will Rs 5120 amount to Rs

7290 in 3 years?

Watch Video Solution

3. A sum of money triples itself in 3 years at

compound interest. In how many years will it

become 9 times itself ?

Watch Video Solution

https://dl.doubtnut.com/l/_wf6g1KzcxpGL
https://dl.doubtnut.com/l/_PRLUb9CQERtJ
https://dl.doubtnut.com/l/_eeBweXvhZnFx


4. The difference between the compound

interest and the simple interest for 2 years at

 per annum on a certain sum of money is

Rs 120. Find the sum.

Watch Video Solution

8%

5. The population of certain type of bacteria

grows at  and  during first,

second and third years, respectively. Find the

4% , 5 % 8%

https://dl.doubtnut.com/l/_eeBweXvhZnFx
https://dl.doubtnut.com/l/_Ihq1oph49am7
https://dl.doubtnut.com/l/_GU4cfb1AANN3


population of the bacteria after 3 years, If the

present population is 100,000.

Watch Video Solution

6. A man borrowed Rs 10,000 at  per

annum, interest compounded quarterly. Find

the amount that he has to pay after 9 months.

Watch Video Solution

12%

https://dl.doubtnut.com/l/_GU4cfb1AANN3
https://dl.doubtnut.com/l/_zcw9BWX7wFid


7. Find the compound interest on Rs 50,000

for 3 years, compounded annually, and the

rate of interest being  and 

for the three successive years, respectively.

Watch Video Solution

10% , 12% 15%

8. Two persons P and Q lent certain amounts

at the rate of interest for 2 years and 3 years,

respectively, under compound interest. If their

final amounts are in the ratio of , Q's3: 5

https://dl.doubtnut.com/l/_0eNYuZK5oxyK
https://dl.doubtnut.com/l/_N75uwvDiUFRh


amount at the end of the first year being Rs

8500 and P earned an interest of Rs 510 for

the first year, then find the ratio of their

principals.

A. 

B. 

C. 

D. 

Answer:

View Text Solution

33: 50

27: 47

35: 61

22: 51

https://dl.doubtnut.com/l/_N75uwvDiUFRh


9. The difference between simple interest and

compound interest on a sum of Rs 20,000 for

two years is Rs 112.50. What is the annual rate

of interest? Choose the correct answer from

the following options:

A. 

B. 

C. 

D. 

6%

7.5 %

8.5 %

8%

https://dl.doubtnut.com/l/_N75uwvDiUFRh
https://dl.doubtnut.com/l/_YzihGUHglHC2


Answer:

Watch Video Solution

10. Ravi borrowed Rs 15,000 at the rate of

 per annum for 2 years under simple

interest. As he could not repay the loan after

two years, the money lander lender increased

the rate of interest to  per annum for the

further period. If Ravi wants to repay the

entire amount at the end of a total period of 3

15%

20%

https://dl.doubtnut.com/l/_YzihGUHglHC2
https://dl.doubtnut.com/l/_WuxoG53EWVSP


Test Your Concepts

years and 4 months, then how much he has to

pay. (in Rs.)

A. 24500

B. 24000

C. 23500

D. 23000

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_WuxoG53EWVSP


1. Bank P provides loan at  per annum

simple interest, and bank Q provides loan at

 per annum, simple interest. Vinay

borrowed Rs 1000 for 2 years from blank P,

Kumar borrowed Rs 1000 for 2 years from

bank Q. How much extra interest Kumar have

to pay?

Watch Video Solution

10%

20%

https://dl.doubtnut.com/l/_hHg9fwBLC5R9


2. The difference between the compound

interest for the th year and compound

interest for (p+2)th year is equal to the

interest for one year on the compound

interest for the (p+1)th year. (True or False)

Watch Video Solution

(p + 1)

3. Compound interest for one year on Rs 500

calculated half yearly at 20% per annum is Rs

100. (True/False)

https://dl.doubtnut.com/l/_fuuLurn4c0TG
https://dl.doubtnut.com/l/_isdfNe6oepRy


Watch Video Solution

4. Find the compound interest on Rs 5000 at

10% per annum for 1 year, interest

compounded annually?

Watch Video Solution

5. A certain sum doubles in 3 years under

simple interest. In how many years will the

sum become 5 times itself?

Watch Video Solution

https://dl.doubtnut.com/l/_isdfNe6oepRy
https://dl.doubtnut.com/l/_R1Ey2dASuhve
https://dl.doubtnut.com/l/_y4dvnRMVC0sD


6. Simple interest on a sum of Rs 10,000 for 3

years at the rate of 20% per annum is

…………………..

Watch Video Solution

7. In what time will a sum become three times

itself at 20% per annum, at simple interest?

Watch Video Solution

https://dl.doubtnut.com/l/_y4dvnRMVC0sD
https://dl.doubtnut.com/l/_RtzLQEMwFRBh
https://dl.doubtnut.com/l/_dFPPB9gw4Zf1
https://dl.doubtnut.com/l/_WkmWFYrBkd8q


8. A certain sum becomes 16 times in 4 years at

compound interest, compounded annually.

What is the rate of interest?

Watch Video Solution

9. If compounding is done p times a year, at

the rate of  per annum for n years, the

principal  will amount to…………….

Watch Video Solution

5%

x

https://dl.doubtnut.com/l/_WkmWFYrBkd8q
https://dl.doubtnut.com/l/_fPctiSKr0dAN
https://dl.doubtnut.com/l/_JqvSM6IbqMCr


10. A certain sum amounts to Rs 73,255 in 3

years, and Rs 84,525 in 5 years at simple

interest. Find the sum.

Watch Video Solution

11. If certain sum becomes 3 times itself in 4

years at compound interest, in how many

years will the sum become 81 times itself at

the same rate of interest?

Watch Video Solution

https://dl.doubtnut.com/l/_JqvSM6IbqMCr
https://dl.doubtnut.com/l/_1smaY5qMxRNo


12. Raju borrowed Rs 15,000 from Mahesh at

the rate of 15% per annum under simple

interest for 3 years. Raju lent some part of

money at 20% per annum at simple interest

for 3 years and the remaining part at 12% per

annum at simple interest for 3 years. If the

interest received payable, then find the sum he

lent at 20% simple interest?

Watch Video Solution

https://dl.doubtnut.com/l/_xUuEFum2OWqe


13. Farheen borrowed a sum of Rs 18,000 at

the rate of 20% per annum, interest

compounded semi-annually. Find the amount

and compound interest for a period of 

years.

Watch Video Solution

1( )
1

2

14. Find the rate of simple interest per annum.

If the sum borrowed becomes 3 times itself in

12 years.

https://dl.doubtnut.com/l/_G79RdciIojSg
https://dl.doubtnut.com/l/_E2aT7XOHS1kf


Watch Video Solution

15. Find the simple interest on Rs 5600 at 20%

per annum from May 22 to November 5 of the

same year.

Watch Video Solution

16. If Rs 6000 becomes Rs 6720 in 2 years at

simple interest how much does a sum of Rs

10,000 becomes in 5 years at the same rate of

simple interest?

https://dl.doubtnut.com/l/_E2aT7XOHS1kf
https://dl.doubtnut.com/l/_53K4eklsXZLK
https://dl.doubtnut.com/l/_TLJBn4hZV4Lk


Watch Video Solution

17. The compound interest for 2 years and

simple interest for 1 year on a certain sum at

certain rate of interest are Rs 3780 and Rs

1800, respectively. Find the 3 rd year is Rs 864.

Find the principal and rate of interest.

View Text Solution

https://dl.doubtnut.com/l/_TLJBn4hZV4Lk
https://dl.doubtnut.com/l/_VSODnpYlaZU1


18. The compound interst on a certain sum at

a certain rate of interest for the 2nd year is Rs

720, and for the 3rd year is Rs 864. Find the

principal and rate of interest.

Watch Video Solution

19. Farhan borrowed Rs 25,000 at 10% per

annum under compound interest. He repaid a

certain amount at the end of the first year and

paid Rs 24,750 at the end of 2nd year to

https://dl.doubtnut.com/l/_PiKWZivaLg4f
https://dl.doubtnut.com/l/_ToOutApzddyr


completely disburse the loan. What amount

did Farhan repay at the end of the first year?

Watch Video Solution

20. The compoud interest on Rs 1000 is Rs 331

for 3 years at certain rate of interest, what is

the rate of interest.

Watch Video Solution

https://dl.doubtnut.com/l/_ToOutApzddyr
https://dl.doubtnut.com/l/_ffdXTRDFyhFO


21. If Rs 6000 is lent at 10% per annum,

interest being compounded annually, what is

the interest for the 3rd year?

Watch Video Solution

22. What sum would amount to Rs 17,280 in 3

years, at an interest of  per annum rate,

interest compounded annually?

Watch Video Solution

20%

https://dl.doubtnut.com/l/_V5reIRaB8qem
https://dl.doubtnut.com/l/_nIyyZWZUEJOO
https://dl.doubtnut.com/l/_UOqlhyYE3kYN


23. If the rate of interest is  per annum

compounded in every 6 months, then what is

the effective rate of interest per annum?

Watch Video Solution

20%

24. The difference between the compound

interest and the simple interest on a certain

sum for 2 years is equal to the interest

calculated for 1 year on one year's simple

interest. (True / False).

Watch Video Solution

https://dl.doubtnut.com/l/_UOqlhyYE3kYN
https://dl.doubtnut.com/l/_rr9J8TxExMAg


25. Shyam borrowed Rs 18,000 at 15% per

annum at compound interest compounded

annually. He repaid Rs 10,700 at the end of the

1st year. What is the amount he should pay at

the end of 2nd year to completely disburse the

loan?

Watch Video Solution

https://dl.doubtnut.com/l/_rr9J8TxExMAg
https://dl.doubtnut.com/l/_zjWdgW6xA3PG


26. Rajesh borrows Rs 50,000 at simple

interest, but the rate of interest is not

constant for the entire period, For the first

three year it is 10% per annum, for the next

two years it is  per annum and for next

three years it is 8% per annum. He repaid the

entire amount after 8 years. How much he

have to repay to clear the debt?

Watch Video Solution

5%

https://dl.doubtnut.com/l/_pA9JyAoAJkpn


27. Janardhan deposited a certain sum of

money in fixed deposit account at k% per

annum interest being compounded annually. If

the amount of interest accured for the 3rd

and 4th years is RS 5000 and Rs 6250

respectively, what is the total interest accured

for the first two years?

View Text Solution

https://dl.doubtnut.com/l/_XVPvvi2yhud4


28. The difference between compound interest

at 10% per annum and simple interest at 8%

per annum on a certain sum for 3 years is Rs

910. Find the sum.

Watch Video Solution

29. Find the simple interest on Rs 3750 at

 per annum for the period beginning

3rd February 2007 to 29th June 2007.

Watch Video Solution

5 %
1

2

https://dl.doubtnut.com/l/_QMcl8X79RReZ
https://dl.doubtnut.com/l/_kUk6Rt66AUf9


Short Answer Type Questions

30. A sum at  per annum amounts to Rs

8723 in 5 years at simple interest. Find the

sum.

Watch Video Solution

12.5 %

1. The population of a town increase at the

rate of  every year. Find the population of5%

https://dl.doubtnut.com/l/_kUk6Rt66AUf9
https://dl.doubtnut.com/l/_l1S2BAsqfkDe
https://dl.doubtnut.com/l/_wYO0MGswUVeH


the town in the year 2008, if it's population in

2005 was 200,00.

Watch Video Solution

2. Suman borrowed Rs 8000 from Mahesh at

20% per annum at simple interest. After 3

years when to pay the amount at compound

interest. How much more Suman have to pay?

Watch Video Solution

https://dl.doubtnut.com/l/_wYO0MGswUVeH
https://dl.doubtnut.com/l/_PtfQNLCsJrHc


3. Jahangir borrowed Rs 80,000 at the rate of

7% per annum at compound interest, interest

being compounded annually. How much

should he repay at the end of the first year, so

that by repaying Rs 48,792 at the end of the

first year, so that by repaying Rs 48,792 at the

end of second year, then what is the rate of

interest?

View Text Solution

https://dl.doubtnut.com/l/_f2Rm69UUNOjK


4. Sunil borrowed a certain sum from a

moneylender under compound

interest,interest being annually. If the interest

for the  year is  times the interest for the

first year,then what is the rate of interest?

Watch Video Solution

2nd 2

5. The difference between the simple interest

received from two different persons on Rs

https://dl.doubtnut.com/l/_xBjrh2JTSUOP
https://dl.doubtnut.com/l/_xGx20VCVQ5oa


1800 for 4 years is Rs 36. The difference

between their rates of interest is ………………………

Watch Video Solution

6. The compound interest is earned on a sum

of money at a rate of 8% per annum for the

first year and 10% per annum for the second

year. Find the single equivalent rate of interest

on the sum for the two years.

Watch Video Solution

https://dl.doubtnut.com/l/_xGx20VCVQ5oa
https://dl.doubtnut.com/l/_nJtsX2r7Vp0b
https://dl.doubtnut.com/l/_LlFLDkPcEC9O


7. Akhil invested Rs 8000 in a bank, which pays

compound interest, compounded semi-

annually. He receives Rs 9261 after 18 months

from the bank. Find the rate of interest per

annum.

View Text Solution

8. A moneylender found that a fall in the

annual rate of simple interest form 7% to 6%

resulted in his amount of income being

reduced by Rs 212.50. Find his capital. (in Rs)

https://dl.doubtnut.com/l/_LlFLDkPcEC9O
https://dl.doubtnut.com/l/_SzKMbvm0yyzH


View Text Solution

9. A sum doubles itself in 4 years at simple

interest. How many times will it amount in 8

years at the same rate of simple interest?

Watch Video Solution

10. Mahesh deposited Rs 5000 in Syndicate

Bank for 6 months. If the bank pays compound

https://dl.doubtnut.com/l/_SzKMbvm0yyzH
https://dl.doubtnut.com/l/_MlHatvnKFsik
https://dl.doubtnut.com/l/_yLMz5DWUeJXP


interest at 12% per annum, reckoned quarterly,

find the interest received by him.

View Text Solution

11. The difference between SI and CI

(compounded annually) on a sum of Rs 64,000

for years is Rs 1000. What is the rate of

interest per annum?

View Text Solution

https://dl.doubtnut.com/l/_yLMz5DWUeJXP
https://dl.doubtnut.com/l/_r5SDk8ekr5wa


12. A sum of Rs 150 is borrowed at simple

interest at 4% per annum for the month, 8%

per annum for the second month, 12% per

annum for the third month, and so on. What is

the total amount of interest to be paid at the

end of 6 months?

View Text Solution

13. The difference betweent the CI and SI on a

sum of Rs 7200 for two years is Rs 72. Find the

https://dl.doubtnut.com/l/_Wf1cyXZ3Y7Aa
https://dl.doubtnut.com/l/_Ur74N1Wjz7HT


rate of interest per annum.

Watch Video Solution

14. Roja invested Rs 6000 in a bank, which paid

compound interest, interest being

compounded semi annually. She received Rs

10,368 after 18 months from the bank. Find the

rate of interest. (per annum)

View Text Solution

https://dl.doubtnut.com/l/_Ur74N1Wjz7HT
https://dl.doubtnut.com/l/_pPie6M2D2Ab9


Easy Type Questions

15. A sum of Rs 40 is borrowed at simple

interest, it is borrowed at 2% per annum for

the first month, 4% per annum for the second

month, 6% per annum for the third month,

and so on. What is the total interest to be

paid at the end of 6 months? (in Rs)

View Text Solution

https://dl.doubtnut.com/l/_pLSRFKM5MOcc


1. A certain sum of money at simple interest

increases by 50% in 5 years. What will be the

compound interest, compounded annually on

Rs 13,000 for 3 years at the same rate?

View Text Solution

2. A sum of Rs 100,000 amounts to Rs 171,600

in 3 years under compound interest, interest

being compounded annually. It is lent at 

per annum for the first year,  per annum

10%

20%

https://dl.doubtnut.com/l/_IQ48bDLz4zLM
https://dl.doubtnut.com/l/_r6GnFXsjwdKw


for the second year and  per annum for

the third year. Find x.

View Text Solution

x%

3. Two persons each lent Rs 2000 at simple

interest for 2 years. The difference between

the simple interest received by them is Rs 20.

Find the difference between the rates of

interest.

View Text Solution

https://dl.doubtnut.com/l/_r6GnFXsjwdKw
https://dl.doubtnut.com/l/_KFyitn8F3dbI
https://dl.doubtnut.com/l/_kC385jrx2rU9


4. P and Q borrowed Rs 600 each for a period

of 3 years. P paid simple interest at  per

annum, interest being compounded annually.

Who paid more interest and by how much?

View Text Solution

25%

5. What is the ratio of compound interest

accured on a certain sum in two years at 

per annum to the compound interest accured

on the same amount in three years at 

per annum.

20%

10%

https://dl.doubtnut.com/l/_kC385jrx2rU9
https://dl.doubtnut.com/l/_GtEX12ZMJKUV


View Text Solution

6. A certain sum of money becomes Rs 2100 in

4 years and Rs 2550 in 7 years. Find the rate of

simple interest per annum.

A. 

B. 

C. 

D. 

Answer: A

10%

8%

12%

15%

https://dl.doubtnut.com/l/_GtEX12ZMJKUV
https://dl.doubtnut.com/l/_wXKszXvR1WfY


Watch Video Solution

7. There are three amounts a,b and c, such that

b is the simple interest on c and c is the

simple interest on a. Which of the following

must always be true?

A. 

B. 

C. 

D. 

a2 = bc

b2 = ac

c2 = ab

a2 + b2 = c2

https://dl.doubtnut.com/l/_wXKszXvR1WfY
https://dl.doubtnut.com/l/_pogTCrcJBO4e


Answer: C

Watch Video Solution

8. If the compound interest on a certain sum

of money for 2 years is Rs 3280. What would

the corresponding simple interest be, given

the rate of interest is  per annum?

A. Rs 3150

B. Rs 3200

C. Rs 3100

5%

https://dl.doubtnut.com/l/_pogTCrcJBO4e
https://dl.doubtnut.com/l/_95bmTYNtP4kp


D. Rs 3050

Answer: B

Watch Video Solution

9. If the compound interest on a certain sum

at  per annum, interest compounded

annually for 2 years is Rs 2496, then find the

simple interest on the same amount at the

same rate and for the same period.

A. Rs 2300

8%

https://dl.doubtnut.com/l/_95bmTYNtP4kp
https://dl.doubtnut.com/l/_zG0GfL4r8sZA


B. Rs 2450

C. RS 2400

D. Rs 2375

Answer: C

Watch Video Solution

10. A sum of Rs 22000 is divided into three

parts such that the corresponding interests

earned after 1 year at 2% per annum, 4 years

at 2% per annum and 16 years at 1% per

https://dl.doubtnut.com/l/_zG0GfL4r8sZA
https://dl.doubtnut.com/l/_qEUndHpDxDLb


annum simple interest are equal. Find the

least of the sum which was lent. (in Rs)

A. 1000

B. 2000

C. 5000

D. 4000

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_qEUndHpDxDLb


11. The compound interest on a sum of money

for two years is Rs 459 and the corresponding

simple interest is Rs 450. What is the amount

under simple interest on the same amount at

the same rate of interest at the end of two

years?

A. Rs 6325

B. Rs 6084

C. Rs 6065

D. Rs 5524

https://dl.doubtnut.com/l/_qzsXjosGw1nD


Answer: C

View Text Solution

12. A sum of Rs 1750 is lent out at simple

interest into two parts, the smaller part being

lent at 7% per annum and the larger part at

5% per annum If the total amount of interest I

one year is Rs 98, then find the part which was

lent at 5% per annum.

A. Rs 525

https://dl.doubtnut.com/l/_qzsXjosGw1nD
https://dl.doubtnut.com/l/_G0QRvxpvYBSO


B. Rs 975

C. Rs 1225

D. Rs 1350

Answer: C

Watch Video Solution

13. A sum of money invested at compound

interest doubles itself in six years. In how

many years will it become 64 times itself at the

same rate of compound interest?

https://dl.doubtnut.com/l/_G0QRvxpvYBSO
https://dl.doubtnut.com/l/_Lvuku2zEPci3


A. 30

B. 36

C. 42

D. 48

Answer: B

Watch Video Solution

14. Two equal sums are lent at simple interest.

The first sum is recovered in 3 years and the

second sum in 6 years. The rate of interest per

https://dl.doubtnut.com/l/_Lvuku2zEPci3
https://dl.doubtnut.com/l/_Gfs9ILBNHIdn


annum on the first sum is 2% more than that

of the second sum. Find the total sum lent if

the amount in each case is Rs 560.

A. Rs 530

B. Rs 500

C. Rs 1480

D. Rs 1000

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_Gfs9ILBNHIdn
https://dl.doubtnut.com/l/_y2ZSh66khjuc


15. A sum was borrowed at simple interest at

R% per annum for 2 years. If it had been

borrowed at (R+5)% per annum it would have

become Rs 200 more. Find the sum (in Rs).

A. 2500

B. 2000

C. 3000

D. 1500

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_y2ZSh66khjuc


16. The ratio of the interest accured on a sum,

when invested at simple interest for 2 years

and the interest accured on it, if it is invested

at compound interest, interest being

compounded annually for 3 years at the same

rate of interest is 50:91. Find the rate of

interest (per annum).

View Text Solution

https://dl.doubtnut.com/l/_y2ZSh66khjuc
https://dl.doubtnut.com/l/_GBkDY8IH2UfB


17. Ravi look a certain amount from Raju at the

rate of 8% per annum at simple interest and

lent half of the amount to Ramu at 8% per

annum at simple interest and the remaining

amount to Raghu at 10% per annum at simple

interest. If at the end of 10 years, Ravi under a

profit of Rs1250 in the deal, then find the

amount that Ravi had taken from Raju.

A. Rs 12,500

B. Rs 13,125

C. Rs 2245.50

https://dl.doubtnut.com/l/_GJcwzCqLzlhW


D. Data insufficient.

Answer: A

View Text Solution

18. Two equal sums were lent at the same time

at simple interest rates of  and per

annum. The first sum was recovered 2 years

earlier than the second sum, and the amount

in each case was Rs 930. What was the sum

lent?

6% 4%

https://dl.doubtnut.com/l/_GJcwzCqLzlhW
https://dl.doubtnut.com/l/_YiX2CmY1C6wR


A. Rs 820

B. Rs 780

C. Rs 690

D. Rs 750

Answer: D

View Text Solution

19. A person invested three different amounts

at  and  per annum at simple

interest. At the end of the year, he received the

3% , 5 % 6%

https://dl.doubtnut.com/l/_YiX2CmY1C6wR
https://dl.doubtnut.com/l/_AZSWTcInEEPR


same interest in each case. If ther person's net

investment is Rs 4200, then the money

invested at  is………………..

A. Rs 2000

B. Rs 1000

C. Rs 1500

D. Rs 1200

Answer: D

Watch Video Solution

5%

https://dl.doubtnut.com/l/_AZSWTcInEEPR
https://dl.doubtnut.com/l/_bSXPHqTmV7Fi


20. A sum of Rs 3000 is lent out in two parts.

The smaller part is lent at  per annum

and the larger part is lent at  per annum.

If the total interest in a year is Rs 500m then

find the sum lent is 10% per annum (in Rs.).

A. 800

B. 1000

C. 1000

D. 900

Answer: B

10%

20%

https://dl.doubtnut.com/l/_bSXPHqTmV7Fi


Watch Video Solution

21. The integral number of years in which a

sum of money at 25% per annum under

compound interest will become more than

twice itself is at least.

A. 3

B. 2

C. 4

D. 1

https://dl.doubtnut.com/l/_bSXPHqTmV7Fi
https://dl.doubtnut.com/l/_3OrjrYyPxezh


Answer: C

View Text Solution

22. Find the least integral number of years in

which a sum at  per annum compound

interest will be more than double.

A. 4

B. 5

C. 3

D. 6

20%

https://dl.doubtnut.com/l/_3OrjrYyPxezh
https://dl.doubtnut.com/l/_30CtJghAj17P


Answer: A

View Text Solution

23. A sum is split into two equal parts. One of

part is lent at simple interest at 20% per

annum for 6 years. The other part is lent at

40% per annum simple interest for 2 years.

The difference in the interest is Rs 71. Find the

total sum in Rs.

A. 150

https://dl.doubtnut.com/l/_30CtJghAj17P
https://dl.doubtnut.com/l/_3cEQ7rTGmix6


B. 360

C. 240

D. 270

Answer: B

Watch Video Solution

24. A sum is split into five equal parts. Each

part is lent at annual rate of simple interest of

8%, 7%, 5%, 3% and 2%. They are lent for 1

year, 2 years, 3 years, 4 years and 5 years. On

https://dl.doubtnut.com/l/_3cEQ7rTGmix6
https://dl.doubtnut.com/l/_Tcvlhx5sxYap


how many parts is the simple interest at least

 of the total interest?

A. 1

B. 2

C. 3

D. 4

Answer: A

View Text Solution

25%

https://dl.doubtnut.com/l/_Tcvlhx5sxYap


25. A sum of Rs 2500 is split into two parts,

one part being lent at simple interest and the

other part being lent at compound interest,

interest being compounded annually. At the

end of two years, the total amount of interest

earned on the sum is Rs 201. Find the sum lent

at simple interest, if both the part are lent at

an interest rate of 4% per annum.

A. Rs 1250

B. Rs 1625

C. Rs 1875

https://dl.doubtnut.com/l/_PHCJuV9k9Qnu


D. Rs 1500

Answer: C

View Text Solution

26. A sum is split into five equal parts. They are

lent at annual rates of simple interests of 1%,

2%,3%, 10% and 5%. They are lent for 6 years,

4 years, 3 years, 1 year and 1 year, respectively.

The simple interest on how many parts is at

least  of the total interest?20%

https://dl.doubtnut.com/l/_PHCJuV9k9Qnu
https://dl.doubtnut.com/l/_hrDnl0zJ0CL8


A. 1

B. 2

C. 3

D. 4

Answer: C

View Text Solution

27. A sum is split into two equal parts. One of

the parts is lent at simple interest at 4% per

annum for one year. The other part is further

https://dl.doubtnut.com/l/_hrDnl0zJ0CL8
https://dl.doubtnut.com/l/_g55ppjbgATEj


split into three equal parts. These are lent at

compound interests, interests being

compounded annually. These are lent at 

per annum for 4 years,  per anuum for 2

years and  per annum for 1 year. The

difference between the total compound

interest and simple interest is Rs 1184.10 Find

the sum. in Rs.

A. 3000

B. 4000

C. 5000

10%

20%

40%

https://dl.doubtnut.com/l/_g55ppjbgATEj


D. 6000

Answer: D

View Text Solution

28. Sreedher borrowed Rs 3500 at 6% per

annum for 3 years under simple interest. But,

after one year he was asked to pay compound

interest for the remaining two years on the

sum borrowed initially. How much additional

interest Sreedhar has to pay?

https://dl.doubtnut.com/l/_g55ppjbgATEj
https://dl.doubtnut.com/l/_TJ4wyMYbvRg8


A. Rs 10

B. Rs 14.50

C. Rs 12.60

D. Rs 1200

Answer: C

View Text Solution

29. Ajay borrowed Rs 4000 at 10% per annum

for 4 years under simple interest. But, after 2

years he was asked to pay compound interest

https://dl.doubtnut.com/l/_TJ4wyMYbvRg8
https://dl.doubtnut.com/l/_pleURLbEdaER


for the remaining 2 years on the initially

borrowed amount. How much Ajay have to pay

additionally if interest was compounded

annually? (in Rs)

A. 40

B. 20

C. 80

D. 160

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_pleURLbEdaER


30. A sum of Rs 10,500 is divided into two

parts X and Y, such that the interest calculated

on X for 4 years is equal to the interest on Y

for 6 years. If the rates of interest on X and Y

are 8% and 4% respectively find the larger part

between X and Y.

A. Rs 5000

B. Rs 6000

C. Rs 6500

D. Rs 7000

https://dl.doubtnut.com/l/_pleURLbEdaER
https://dl.doubtnut.com/l/_ZlDXZ95rLlz7


Answer: B

Watch Video Solution

31. A borrowed a certain sum of money from B

at the rate of 10% per annum under simple

interest and lens one-fourth of the amount to

C at 8% per annum under simple interest and

the remaining amount to D at  per

annum under simple interest. If the end of 15

years. A made profit of Rs 5850 in the deal,

then find the sum that A had lent to D.

15%

https://dl.doubtnut.com/l/_ZlDXZ95rLlz7
https://dl.doubtnut.com/l/_7Ji9SmfM6yVy


A. Rs 24,500

B. Rs 12,000

C. Rs 9000

D. Rs 18,600

Answer: C

Watch Video Solution

32. A sum of Rs 62,000 is divided into three

parts such that the corresponding interests

earned for 3 years, 5 years and 6 years are

https://dl.doubtnut.com/l/_7Ji9SmfM6yVy
https://dl.doubtnut.com/l/_JISYBWLa3Exf


equal. If the rates of simple interest are 5%

per annum, 4% per annum and 3% per annum,

then what is the greatest of the sum that were

lens?

A. Rs 18,000

B. Rs 22,000

C. Rs 24,000

D. Rs 26,000

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_JISYBWLa3Exf


33. The difference between the compound

interest on a sum of Rs 4000, interest being

compounded annually and the simple interest

on it for two years is Rs 250. Find the rate of

interest. (per annum)

A. 0.15

B. 0.1

C. 0.25

D. 0.2

https://dl.doubtnut.com/l/_JISYBWLa3Exf
https://dl.doubtnut.com/l/_9lwe8QEQc1FF


Answer: C

Watch Video Solution

34. A sum of Rs 4000 is split into two parts.

One part is lent at simple interest and the

other at compound interest, interest being

compounded annually. At the end of two years,

the total amount of interest earned is Rs 1720.

Find the sum lent at simple interest, if each

part is lent at 20% per annum (in Rs.)

https://dl.doubtnut.com/l/_9lwe8QEQc1FF
https://dl.doubtnut.com/l/_5aBCQeN3m1UV


A. 120

B. 1000

C. 800

D. 1500

Answer: B

Watch Video Solution

35. A sum of Rs 1500 amounts to Rs 1680 in 3

years at simple interest. If the interest rate is

increased by 2%, it would amount to……………….

https://dl.doubtnut.com/l/_5aBCQeN3m1UV
https://dl.doubtnut.com/l/_BdiSYrQdDa5P


A. Rs 1770

B. Rs 1815

C. Rs 1590

D. Rs 1850

Answer: A

Watch Video Solution

36. A sum of money doubles itself in 3 years. At

same rate of simple interest, for a period of 9

years, how many times will the sum become?

https://dl.doubtnut.com/l/_BdiSYrQdDa5P
https://dl.doubtnut.com/l/_qHiC5n8hGbqR


A. 4

B. 6

C. 8

D. 9

Answer: A

Watch Video Solution

37. A and B borrowed Rs 600 and Rs 500

respectively for a period of 3 years. A paid

simple interest at the rate of 10% per annum,

https://dl.doubtnut.com/l/_qHiC5n8hGbqR
https://dl.doubtnut.com/l/_KdjXdy6QQfN6


while B paid compound interest at the rate of

10% per annum compounded annually. Who

paid more interest and by how much?

A. A paid more interest by Rs 14.50

B. B paid more interest by Rs 14.50

C. A and B both paid same amount of

interest.

D. None of the above.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KdjXdy6QQfN6


38. Due to a fall in the annual rate of interest

from 6% to 5%, a person's yearly income

reduces by Rs 245.25. His capital is…………………..

A. Rs 24,525

B. Rs 24,600

C. Rs 23,675

D. Rs 24,000

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KdjXdy6QQfN6
https://dl.doubtnut.com/l/_icbn0kkFQkrT


39. The cost of a television is Rs15625. Its value

depreciates at the rate of 8% per annum.

Calculate the total depreciation in its value at

the end of 3 years.

A. Rs 3458

B. Rs 3748

C. Rs 3548

D. Rs 3845

Answer: A

https://dl.doubtnut.com/l/_icbn0kkFQkrT
https://dl.doubtnut.com/l/_v1eAdOhAueid


Watch Video Solution

40. The value of an ornament decreases evey

year at the rate of 5% over that of the

previous year. If its value at the end of 2 years

is Rs 9025, then what was its original value at

the beginning of these two years?

A. Rs 12,000

B. Rs 11,000

C. Rs 10,000

https://dl.doubtnut.com/l/_v1eAdOhAueid
https://dl.doubtnut.com/l/_wI2zI4utYg67


D. Rs 13,000

Answer: C

Watch Video Solution

41. A certain sum of money triples itself in 6

years at compound interest. In how many

years will it become 27 times at the same rate

of compound interest?

A. 27

https://dl.doubtnut.com/l/_wI2zI4utYg67
https://dl.doubtnut.com/l/_ooS7W2eksifP


B. 30

C. 24

D. 18

Answer: D

Watch Video Solution

42. A sum of Rs 24,000 is divided into two

parts  and , such that the simple interest

calculated on  for 3 years and on  for 4

years are equal. If the rates of interest on 

P1 P2

P1 P2

P1

https://dl.doubtnut.com/l/_ooS7W2eksifP
https://dl.doubtnut.com/l/_xgrtYAyN1f2W


and  are  and  respectively, then

find the smaller of the parts  and .

A. Rs 10,000

B. Rs 12,000

C. Rs 8000

D. Rs 9000

Answer: D

Watch Video Solution

P2 4% 5%

P1 P2

https://dl.doubtnut.com/l/_xgrtYAyN1f2W


43. A person borrowed two equal sums for two

years at the rate of  per annum, from two

persons. He borrowed the first sum at simple

interest and the second sum at compound

interest, compounded annually. The difference

between the amount paid by him is Rs.15. Find

each equal sum.

A. Rs 1300

B. Rs 2000

C. Rs 1500

10%

https://dl.doubtnut.com/l/_iDH3afIWsSGY


D. Rs 2500

Answer: C

Watch Video Solution

44. A certain sum of money amounts to Rs

4200 in 3 years and to Rs 6000 in 6 years at

simple interest. Find the rate of interest.

A. 

B. 

12( )%
1

2

20%

https://dl.doubtnut.com/l/_iDH3afIWsSGY
https://dl.doubtnut.com/l/_LWohIS0fS0U9


C. 

D. 

Answer: C

Watch Video Solution

25%

30%

45. A sum of money becomes four times itself

in 5 years at a certain rate of interest,

compounded annually. In how many years will

it become 16 times itself at the same rate of

interest?

https://dl.doubtnut.com/l/_LWohIS0fS0U9
https://dl.doubtnut.com/l/_GNIsNxJJoogP


A. 20

B. 16

C. 12

D. 10

Answer: D

Watch Video Solution

46. The difference between simple interest and

compound interest on a sum of Rs 40,000 for

https://dl.doubtnut.com/l/_GNIsNxJJoogP
https://dl.doubtnut.com/l/_R0eE38rSXwmF


two years is Rs 900. What is the annual rate of

interest?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

20%

10%

12%

15%

https://dl.doubtnut.com/l/_R0eE38rSXwmF


47. The difference between the compound

interest (compounded annually) and simple

interest, for two years on the same sum at the

amount rate of interest is Rs 370. Find the rate

of interest if the simple interest on the

amount at the same rate of interest for 1 year

is Rs 3700.

A. 0.1

B. 0.12

C. 0.16

https://dl.doubtnut.com/l/_P9isXA5PwWGI


D. 0.15

Answer: A

Watch Video Solution

48. A certain sum amounts to Rs 13,310 after 3

years and to rs 16,105.10 after 5 years under

compound interest. Find the sum borrowed, if

the interest is compounded annually. In (Rs.)

A. 12000

https://dl.doubtnut.com/l/_P9isXA5PwWGI
https://dl.doubtnut.com/l/_bSCN0h6KzWuL


B. 8000

C. 10000

D. 16000

Answer: C

Watch Video Solution

49. A certain sum amounts to Rs 77,000 in 5

years and to Rs 68,200 in 3 years, under simple

interest. If the rate of interest is increased by

https://dl.doubtnut.com/l/_bSCN0h6KzWuL
https://dl.doubtnut.com/l/_4b8gBPjK2mkW


2%, then in how many years will it double

itself?

A. 8

B. 9

C. 10

D. 12

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_4b8gBPjK2mkW


50. Find the compound interest on Rs 40,000

at 12% per annum for a period of 2 years. (in

Rs).

A. 10176

B. 8000

C. 9176

D. 10000

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fdWwhV0kvgG3


51. A person borrowed a certain sum at 25%

per annum compound interest (compounded

annually) and paid Rs 10,000 at the end of 4

years. Find the borrowed.

A. Rs 4096

B. Rs 5000

C. Rs 5016

D. Rs 4960

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WMHMbVrGAETG


52. Find the amount on the sum of Rs 15,625

for 18 months under compound interest,

compounded half yearly at the rate of 16% per

annum.

A. Rs 19,683

B. Rs 19,625

C. Rs 20,504

D. Rs 19,625

https://dl.doubtnut.com/l/_WMHMbVrGAETG
https://dl.doubtnut.com/l/_QU4zA77bbprw


Answer: A

Watch Video Solution

53. Rakesh borrowed Rs 42,000 from Rajnikant

at 6% per annum simple interest. He lent the

same sum to Kishore at 10% per annum

compound interest, compounded annually, for

2 years. Find the amount earned by Rakesh in

the transaction.

A. Rs 2614

https://dl.doubtnut.com/l/_QU4zA77bbprw
https://dl.doubtnut.com/l/_VOYO4iDYxaKF


B. Rs 3550

C. Rs 3610

D. Rs 3780

Answer: D

Watch Video Solution

54. A certain sum amounts to Rs 7935 in 2

years and Rs 9125.25 in 3 years, under

compound interest. Find the sum borrowed if

interest is compounded annually. (in Rs.)

https://dl.doubtnut.com/l/_VOYO4iDYxaKF
https://dl.doubtnut.com/l/_4rdxlca1D8nT


A. 6000

B. 7500

C. 8000

D. 10000

Answer: A

Watch Video Solution

55. Ravi lent Ramu a certain sum of money as

the rate of  per annum, interest2( )%
1

2

https://dl.doubtnut.com/l/_4rdxlca1D8nT
https://dl.doubtnut.com/l/_hoqM6pXuTyLA


compounded annually. After two years, Rami

paid a sum Rs 2560 to Ravi. What amount of

money did Ramu borrow from Ravi?

A. Rs 2036.64

B. Rs 2236.64

C. Rs 243.64

D. Rs 2636.64

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hoqM6pXuTyLA
https://dl.doubtnut.com/l/_pwb4zCxKFZy5


56. In how many years will a sum of Rs 26,600,

interest compounded quarterly, at the rate of

 per annum, amount to Rs 28,900?

A. 1 year

B.  year

C. 2 years

D. 4 years

Answer: B

Watch Video Solution

25%

1

2

https://dl.doubtnut.com/l/_pwb4zCxKFZy5
https://dl.doubtnut.com/l/_BqlMpgE0G0Ao


57. The value of an old bike decreases every

year at the rate of 4% over that of the

previour year. If its value at the end of three

years is Rs 13824, then find its present value.

A. Rs 15,625

B. Rs 14,525

C. Rs 16,625

D. Rs 15,425

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BqlMpgE0G0Ao


58. At compound interest of 8%, 10% and 12%

for three consecutive years, the interest

earned in the 3 year is Rs 891. Find the the

principal amount. (in Rs.)

A. 6250

B. 6050

C. 6200

D. 6225

Answer: A

https://dl.doubtnut.com/l/_BqlMpgE0G0Ao
https://dl.doubtnut.com/l/_DkHOpkh17KVb


Watch Video Solution

59. A certain amount of money doubles in 4

years under compound interest. In how many

additional years will it become 4 times of the

principal amount under the same conditions.

A. 8

B. 4

C. 12

D. 16

https://dl.doubtnut.com/l/_DkHOpkh17KVb
https://dl.doubtnut.com/l/_1SyW80mJ3NK4


Answer: A

Watch Video Solution

60. A sum of money was lent in two parts

which were in the ratio of  for 2 years and

3 years at simple interest 10%, If the difference

between the interest earned is Rs 6000, then

find the total sum that was lent.

A. Rs 24,000

B. Rs 36,000

2: 3

https://dl.doubtnut.com/l/_1SyW80mJ3NK4
https://dl.doubtnut.com/l/_vvIvZilRR27N


C. Rs 60,000

D. Rs 84,000

Answer: C

Watch Video Solution

61. The total simple interest at Rs% per annum

and the total compound interest at Rc% per

annum for 2 years on Rs 10,000 are equal. If Rs,

Rc are integers, then find the minimum

difference between Rs and Rc.

https://dl.doubtnut.com/l/_vvIvZilRR27N
https://dl.doubtnut.com/l/_rpYKqvreAKrP


A. 2

B. 4

C. 8

D. 10

Answer: A

Watch Video Solution

62. Find the amount on Rs 9900 at 20% per

annum for 2 years at compound interest

(compounded annually).

https://dl.doubtnut.com/l/_rpYKqvreAKrP
https://dl.doubtnut.com/l/_vbQEIzXQFXte


A. Rs 12,946

B. Rs 13,548

C. Rs 14,256

D. Rs 15,678

Answer: C

Watch Video Solution

63. Find the amount when Rs 9999 is lent at

simple interest for 3 years and a 4 months at

10% per annum (in Rs.)

https://dl.doubtnut.com/l/_vbQEIzXQFXte
https://dl.doubtnut.com/l/_ypwe9r5mQKRD


A. 13332

B. 12332

C. 12232

D. 13333

Answer: A

Watch Video Solution

64. The compound interest on a certain sum

for 2 years is Rs 882, whereas the simple

https://dl.doubtnut.com/l/_ypwe9r5mQKRD
https://dl.doubtnut.com/l/_gLv9A9hIX6gJ


Concept Application

interest on it is Rs 840. Find the rate of

interest.

A. 0.1

B. 0.12

C. 0.08

D. 0.15

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gLv9A9hIX6gJ


1. A sum of money at simple interest amounts

to Rs 800 in 2 years and to Rs 1200 in 6 years.

The sum is……………

A. Rs 600

B. Rs 1000

C. Rs 400

D. Rs 500

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_b7Eosaop7fwH


https://dl.doubtnut.com/l/_b7Eosaop7fwH

